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URANIUM ANALYSES (SCINTREX UA-=3) AND LOCATIONS OF WATER SAMPLES
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‘ APPENDIX B-3. URANIUM ANALYSES (SCINTREX UA-3) AND LOCATIONS OF WATER SAMPLES

LOCATION e U308
SAMPLE NO. : TWP. GEOLOGIC (ppb) DATE
() CODE (acidified) COLLECTED

=
I

iiiiil:iii
A =2 000NV P W

25 ‘ Ta, 11 %% 04/14/78
25 Qa 4 06/24/78
25 Qa 4 06/24/78
26 Qa bex 04/15/78
26 R k 4/ 5%x 06/14/7%
26 : Tt 17%%/4 04/14/78
26 ov %% 04/14/78
26 Tt 7xk 04/14/78
26 Qp 3xk 04/15/78
26 Qa 7x%/10 04/15/78
26 Qa 10%%/10 04/15/78
26 ovi 5 06/24/78
26 ovi 2 06/24/78
e’ T lgr 13%% 04/15/78
27 Ts, Txx 04/15/78
27 PRh 2%x /1 04714778
27 Qa 3 06/14/78
27 Tss 14%%/6 04/12/78
27 Tss 5 06/10/78
27 Tta 3 06/10/78
27 T™®: 59 06/10/78
27 Ts, 2 06/10/78
27 Qa 2x% 04/14/78
27 Tta 3 04/15/78
27 Qa Pxx 04/14/78
e? Tss S 04/16/78
27 Tta 2 04/15/78
27 Qa 8 04/15/7¢
27 Tta 52%%/95/54  04/14/7¢
28 PPh 10 06/06/78
28 FRh 5 06/08/7¢
28 PRh 2xk 04/15/7¢
28 Qa 3 06/15/7¢8
28 Tss 4xx/5 04/12/78
28 Tta 10 07/22/78
28 Tss 2 07/22/78
28 Tss 3 07/22/78
28 Rec 20%* 04/15/78
28 Jgr 25%* 04/15/78
28 Jgr 10 06/12/78
28 ov %% 04/13/78
28 Tt 16 04/15/78
29 Qa 3 06/07/70
29 Qa 5 06/08/78
29 2 06/14/78

J
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W s

no

n -

J

4
8
2
Q
19
4
2
3

=D el I\
(o SV, IV




WINNEMUCCA

LOCATION u308
TWP. GEGLOGIC (ppb) DATC
(N CODE (acidified) COLLECTED

w
m
(]

SAMPLE NO.

29 ! Q 3 06/13/78
29 %% 04/15/78
29 T 47 08/19/78
29 : t 47 09/19/78
29 Q7/04/78
29 Q7/08/78
29 Q7/04/78
30 06/14/78
30 06/13/78
30 07/08/78
30 07/04/78
30 07/04/78
31 06/21/78
31 06/21/78
31 06/21/78
31 06/21/73
31 06/22/78
31 Q7/25/78
31 04/14/78
31 06/20/78
31 Q7/25/78
31 07/06/78
a1 07/08/78
31 07/08/78
31 07/08/78
32 06/21/78
32 07/06/78
32 07/06/7¢
32 06/23/78
oe 06/20/7¢
32 0672077

32 06/20/78
32 06/20/7¢
32 06/20/78
32 06/20/7¢
33 Q7724778
D0 Q7/24/78
33 07724778
33 07/24/78
33 06/711/78
33 06/11/78
33 06/11/78
33 07/06/78
33 06/20/7¢
34 08/08/7 .
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i)

LOCATION U308
SAMPLE NO. SEC. TWP. GEOLOGIC (ppb) DATE
(N) CODE (acidified) COLLECTED

34 MDs
34 €h
34 Tts
34 Ov
34 Kgr
BYA Qa
34 €t
34 Qa
34 Qv
34 Qv
34 Tba
39 Ov
35 Qa
33 Ov
35 €h
a9 Tt,
39 Tts
39 Tts
35 Tt,
35 Qa
36 KJdd
36 Qa
36 Tty
36 Tts
36 Tts
36 Tt,
36 Qa
36 Qa
36 Qa
36 Qa
36 ) Trs
36 . QToa

07/23/78
07/23/78
08/08/78
08/0&/78
04/15/78
08/08/
08/08/
06/17/¢¢
06/17/7:
06717/ 7:
06/11/78
08/04/78
08/04/72
08/04/78
Q7/23/78
08/03/i¢
08/06/78
08/08/7
08/08/7¢
06/09/78
08/10/78
08/04/78
08/06/78
08/04/78
08/04/78
08/06/78
06/09/78
06/09/7¢
08/03/78
06/09/ -
06719/
06/13/¢8
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APPENDIX B-4. FULL RAPID-ROCK DATA AND PERALKALINE INDICES
(all quantites given in %)




SAMPLE #

MAO-284
MAO-360
MEG-028
MEQ-080
MEQ-117
MEQ-283

S10,

(105
64.89
.2l
(0.2
66.38
64.77

APPENDIX B-4.

MnO

.05
.07

MgO

.63
1.95
1.69
1.6
2. 3F
2.54

FULL RAPID-ROCK DATA AND PERALKALINE INDICES
tall quantities given in %)

WINNEMU(e

Peralkaline Index
mol. % K0 + Nay0
Al203

{)
.55
73
.66
.64
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APPENDIX B-5. WHOLE=ROCK DATA AND PERALKALINE INDICES
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APPENDIX B-5. WHOLE-ROCK DATA AND PERALKALINE INDICES

Peralkaline Index
110,  MnO Mg0 K. €0, P,0s ) 3 Fe;03 2r0; F Be Mo Cr,0; mol. %X K0 + Na,0
Sample # (%) (%) (%) % (¢9] (%) (%) (ppm)  (ppm) (ppm) (ppm) (ppm) AL,0,

MAO-052 - 22 0.3 0,03 0.14 .07 0.8 0.05 i 0:59 224 < 200
MAO-101 . 14 .03 ¢ i . Al ) a Y 1.10 120 < 200
MAO-102 o .06 .06 SO0 e ’ . Sigl . . .84 55 555
MAO-103 s il & .05 X s o il £ i % <10 215 394
MAO-202 P36 . . .04 < p % § 1.0 g § % 1.80 219 200
MAO-205 (5.5 .86 . .03 .61 135 245
MAO-207 74. 3 .02 2.01 258 292
MAO-276 Da 47 . .02 iy 284 487
MAO-277 5 . : .01 .24 458
MAO-280 . 4 < .01 138 781
MAO-282 5.8 3 v 01 .24 579
MAO-356 17. . .02 1.10 . 830
MAO-357 i s A <08 .94 925
MAO-361 5 . A .04 2.06 3 < 200
MAG-702 . v .05 1.63 > 404
MAG-704 . . . .03 2.6 ¢ 435
MEQ-0:25 2. .67 <39 .04 1.20 : 1290
Mt 011 . 2. 87 ‘ .08 (.65 497
MEQ-016 i . .02 .96 898
MEQ-054 . > A .03 ) 1519
MEQ-056 & 13 3 .06 1. v > 1561
MEQ-082 4. .1 . .05 e { 504
MEQ-085 69. a » .06 840
MEQ-086 . 138 § .08 1020
MEQ-089 ¥ . .07 0 961
MEQ-097 (6.7 A .08 .04

MEQ-098 .46 i, i .06

MEQ-100 70. .68 .05

MEQ-101 .76 s .26 .01

MEQ-108 § X i .04 3

MEQ-118 (1 .42 . ¥ W60 2467
MEQ-119 . . .27 . 0¢ . 2400
MEQ-125 . . Y. . . 3.18
MEQ-128 . " 5 v W1 2aR4
MEQ-160  75. 0e . i - 3.14
MEQ-161 77.¢ . e . . 2.46
MEQ-175 W . 5 o 1.04
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